FA:

R EH HE)
el el E R
. SIE]
H-=8. e (31H) - A 01l &k 24 i HlmE2
o= 4 52,924,570 45,123,022 7,801,548
= 28,651,255
s 606,000
= 23,667,315
& = SHE(sHoHLA/HLA - HHE) 52,888,334 45,090,054 7,798,280
= 28,651,255
s 606,000
& 23,631,079
S 34,159,665 31,033,478 3,126,187
= 23,669,655
s 606,000
= 9,884,010
A2 A= (KIXHA) (A 52,000 52,000 0
= 26,000
= 26,000
| 52,000 52,000 0
= 26,000
= 26,000
2s0l = 52,000 52,000 0
ot e & 52,000
= 26,000
< 26,000
507,857 507,857 0
= 450,000
< 57,857
507,857 507,857 0
= 450,000
< 57,857
507,857 507,857 0
507,857
= 450,000
= 57,857
126,800 256,276 A 129,476
10,000 15,000 A5,000
10,000 15,000 25,000
10,000
18,000 0 18,000
02 It A AMPE X 18,000 0 18,000
OL3 LA EA 18,000
XA SE 88,800 88,802 A2
01 AXNEHBAEEES 88,800 88,802 A2
O=x=4tolo & 35,000
O=JtAtel = 53,800
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SH: aMFHY
HE: FHAUS Y|P AS(STHLSL/HSEL - OfE)
CHl: MAH J|EHAIE BB ECHED
2 5 4 14
SN FH-S(BH) - MRAY - B Ol &k o8 e 2
403 XM S0l & 10,000 152,474 AN142,474
01 XA =L = 10,000 162,474 AN 142,474
O(AZJATHOTHHIIAIRA 2129 10,000
U sMHENL (2 D) 606,000 55,000 551,000
s 606,000
403 XM S0l H 606,000 0 606,000
s 606,000
01 XM EEE 606,000 0 606,000
OANZ S&23t 70,000
s 70,000
OO EHIotots 536,000
s 536,000
Ngog 282 775,612 322,000 453,612
401 Al HI 2 20 YI 775,612 322,000 453,612
01 A& HI 774,000 320,000 454,000
oxgog B2 224,000
OHi==2X olE8H& & NeE=H HHl 150,000
OXNLHE EIXNEA M2Eor J2HE =8 400,000
03 AlE 2 CHHI 1,612 2,000 A 388
oxgog 222 1,612
HEFF=HE N 522,000 750,000 A 228,000
403 XSS X201 H 522,000 750,000 A 228,000
01 AtXICHM A28 = 522,000 750,000 A 228,000
OEAIHESHE =4 522,000
HEsSsEAEXE (=) 500,000 500,000 0
2 250,000
< 250,000
308 XXM SO0l & 500,000 500,000 0
2 250,000
< 250,000
11 3I2SoeE&E S A 500,000 500,000 0
OHESSXNJAEEH K& 500,000
= 250,000
= 250,000
ol ek XIetoish Al A (MEALY) 5,000,000 6,716,750 A 1,716,750
401 Al&HI 2 20 YI 5,000,000 6,716,750 A1,716,750
01 A& Hl 4,989,200 6,700,000 21,710,800
OTHOH = 2 X0 E AIEFEI(HE) 4,989,200
03 Al 2 THHI 10,800 16,750 25,950
O F 2t XLHE ALIH (HE) 10,800
BOHNE AS3 145,840 201,600 A 55,760
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A = EH
A ZYHU= HYDIE S (sHHLFL/Herb - O E)
SRl dA JIEAIE =HE (el &3
= _ | 4
M -Z3H-4A(3A) - NREAY - BES Off &F 4 %55 Hws2
403 AXSHHSXH=01d 145,840 201,600 55,760
01 X SHHIHEE X 145,840 201,600 /55,760
OFXY Itsel AldHl K& 40,000
o HFRLAOIFe)AIE X 105,840
01 &= =300(2020) (= 11) 15,695,604 18,352,016 A2,656,412
= 13,907,495
< 1,788,109
403 AXIEHHS =01 & 15,695,604 18,352,016 N2,656,412
= 13,907,495
< 1,788,109
01 HXSHHAH2E = 15,695,604 18,352,016 A2,656,412
© 01 & 5 £300(2020) 15,695,604
= 13,907,495
< 1,788,109
01 &= &300(2021)(=11) 10,197,952 0 10,197,952
= 9,036,160
= 1,161,792
403 AR SHHSAH=01d 10,197,952 0 10,197,952
= 9,036,160
[ 1,161,792
01 HXISHHIHEE X 10,197,952 0 10,197,952
OO0 &= =300(2021) 10,197,952
= 9,036,160
< 1,161,792
Ol &7 &300 30,000 0 30,000
308 XXM SO0l & 30,000 0 30,000
N3 2SI EHASEASE 30,000 0 30,000
O0EREAY 2HEE Y L5 30,000
lzesog =4 14,072,069 10,297,026 3,775,043
= 4,231,600
< 9,840,469
oS T2 10,000 10,000 0
207 & 510 &l 10,000 10,000 0
01 A2 S| 10,000 10,000 0
O= &SI 2 JHA & 10,000
AstF2OTYE2(21) 40,629 32,143 8,486
= 31,600
< 9,029
403 AR SHHSXH=01d 40,629 32,143 8,486
= 31,600
< 9,029
01 HXI M2 E X 40,629 32,143 8,486
oxsBRHEES 40,629
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A

A
HE: FHAUS AP AS(STHSLL/HSEL - OfE)
ol Jl2s0d |4 EER-E
2 5 4 14
SN EAEA) - MEAY - BES 0l &k o e SmEET
= 31,600
= 9,029
AP MAHN 22 1,467,440 1,283,800 183,640
201 L2 2,940 4,200 A 1,260
01 At 22l tl 2,940 4,200 A 1,260
odetoE MAF 2el 29 2,940
202 o4l 11,300 10,000 1,300
01 =LA 8l 11,300 10,000 1,300
O MAHAN 22| 29 7,500
OHOIOIE JIBAIY F& 3,800
403 XAXISHMSA=201H 1,453,200 1,269,600 183,600
01 XX EHH A2 &= 1,453,200 1,269,600 183,600
Oofl® 2% XA 240,600
ORBEs ANA3= 150,000
OB AMA &tE X4 360,000
Ot St LA I =4 690,000
osgdol X g XA 12,600
SAMME MEHAE ZH(2NHEAENE) 600,000 150,000 450,000
403 UHXSHH S0l H 600,000 150,000 450,000
01 HXESHA2E = 600,000 150,000 450,000
OAMME AMBMAR X4 600,000
SUBTHY SR (HEAY) 1,382,000 1,382,800 800
403 XSS 201 H 1,382,000 1,382,800 A 800
01 "X EXMA2E = 1,186,000 1,186,800 A 800
O+MBSIHYL R (XE) 1,186,000
02 BJ12S0etAt=2H 2 & AL I 196,000 196,000 0
Ot STMNLYLR SUEAH(ME) 196,000
D2 WS XN (22) 100,000 200,000 A 100,000
= 100,000
403 XS S0l & 100,000 200,000 A 100,000
= 100,000
01 RIXIEHA2E = 100,000 200,000 A 100,000
Oun=2 e N 100,000
= 100,000
BiCt= 248 (HMEALY) 1,000,000 760,000 240,000
403 THXI A S Xt =0l & 1,000,000 760,000 240,000
01 X EHA2E = 1,000,000 760,000 240,000
Ottt =4 (M8 1,000,000
OIZUEAIY (T BALY) 1,250,000 1,250,000 0
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FA:

A
HE: FHAUS AP AS(STHSLL/HSEL - OfE)
ool Jj2e0g |4 (crel @
- _ d L4
SA-EY S () - NEAY - B Ofl &F 0 agﬁ RS2
401 Al HI L 204 Y| 1,250,000 1,250,000 0
01 A& H| 1,246,000 1,246,000 0
OQZH AL (HE) 1,246,000
03 Al 20l 4,000 4,000 0
OQAZ2 AL (HE) 4,000
HEZHEELEBL(HEAIY) 200,000 200,000 0
403 IXSHHS X201 A 200,000 200,000 0
02 2| 2SOt 2 X 2 E AN HI 200,000 200,000 0
O=&EELB2A(HE) 200,000
AQIE2A 22 AH ZHAMY(HAEHE =) (2 7,500,000 0 7,500,000
2)
= 3,750,000
== 3,750,000
403 XX SHHS K201 ™ 7,500,000 0 7,500,000
= 3,750,000
== 3,750,000
02 2| 2SO =X 2 E AN HI 7,500,000 0 7,500,000
OHAEHE 2= 7,500,000
= 3,750,000
= 3,750,000
AQELA 2 AH XAAMNY(Z2D) 500,000 0 500,000
= 350,000
= 150,000
403 XX SHHS K201 ™ 500,000 0 500,000
= 350,000
= 150,000
02 Z2I|2S0UHSAH=2ERAE AFSHI 500,000 0 500,000
OMZEEA JIEtxH 500,000
= 350,000
== 150,000
AAMEAMS HHEEES XS 22,000 0] 22,000
308 XX EHMSO0IA 22,000 0 22,000
01 AIXSHHMBAAEBEEXZ 22,000 0 22,000
OLYALME THlEEZE XNH 22,000
SSAE T4 Y £4ME XM 4,656,600 3,759,550 897,050
= 750,000
= 3,906,600
SARAYE BHH - EXNXKRALG(Z2D) 1,200,000 1,500,000 A 300,000
= 600,000
== 600,000
307 Q120 & 1,200,000 1,500,000 A 300,000
= 600,000
== 600,000
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SN AT
=

Ba: QWAAE AP HB(SHSSM/H SN - O E)
S9: REAM T8 L A2 HXMD (29 ®e)
% 5 15|
SA B S (BH) - MEMY - BES Ol & 24 i BlRE2
02 eIt A MBE X 1,200,000 1,500,000 A 300,000
Ox=dat Y - EXNXE 1,200,000
= 600,000
= 600,000
=M IS - RSIIEAIE & B20HA 269,600 408,050 A 138,450
202 04l 7,600 7,600 0
01 2L HI 7,600 7,600 0
OFME B - REIVPAE L B2 X 7,600
307 glztol A 100,000 100,000 0
02 QItHAAMHEX 100,000 100,000 0
OUE Al =¢4tE SEH AL 100,000
403 AXESHHSKH=01d 162,000 257,250 A 95,250
01 RXIEH A2 E = 162,000 257,250 A 95,250
OdlE=F AXJ| X& 75,000
O+ME BEEEF U X 85,000
OEN H=E8 XM X& 2,000
X o= g2t HH| 180,000 268,500 A 88,500
403 X SHH S0l & 180,000 268,500 A 88,500
01 IXIEHA2E = 180,000 268,500 A 88,500
OHEFH === A& XA 180,000
Zd ZHOY 2435t 141,000 166,200 A 25,200
308 AHXIEHHI SOl ™ 86,400 86,400 0
01 IXSHHBHEXS 86,400 86,400 0
OTEHLY FUST SHEUE S20IE 86,400
403 AXSHHSKH=01d 54,600 79,800 A 25,200
01 RXIEHXM A2 2= 54,600 79,800 A 25,200
OZHAMY SR I K& 54,600
SAAINBULASE (HEALY) 733,200 46,800 686,400
403 AXESHHSAH=01d 733,200 46,800 686,400
01 XM= Ex 733,200 46,800 686,400
O=btg UXINSAE-ZEA(HE) 390,000
OFNE MRNBAL-LSF(HE) 343,200
SMAE DS A X (=1) 195,000 0 195,000
= 150,000
& 45,000
403 XM S =0l & 195,000 0 195,000
= 150,000
& 45,000
01 XX EH A2 E = 195,000 0 195,000
O+4AE JIBLY N 195,000
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